ILED: NE	W YO	RK	COUNTY	CLERK	03/26/201	8 10:32	PM	INDEX	NO. 6 ¹ 53874/2
SCEF DOC! N	10.21			مريودي ويعقمان وال	le = {		R	ECEIVED NY	SCEF: 03/26/2
ery, souther -	n da ng Th	1	···· ····	nasi sa sa	net englande ef i Maler	<u>8</u> 9 - 2 1.	i boostaanse	My et an all se	
									:
,				NIHIL	L & RIEDLEY, P.C.				
					c Ledger Building				2
			·	150 South I	Suite 800 Independence Mall	West			
·····			- 15 Station - F		lelphía, PA - 19106				
				<u></u>	'IN 23-2309118				
	D							Page: 1	
			ppeil, Esquire BONACCI, & I	PARKER. LI	P	,	Marc Account No:	h 21, 2008 1593-000	¢ • -
	26 Col	lumbi	a Tumpike				atement No:	144115	- - -
	North Forhai		nce rk NJ 07932						
			lle No: JM28	002					
		ase 1		002					
			In Reference		Rodriguez, et al v. A				
			Index No.: 1		enovators, Inc. et al				
			MDMC File		1342				
		.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		Se	rvices Rendered		1999-1993 and 18 979 - 19 - 19	, ,	
						Ra	ate Hours		
02/11	1/2008	NY			DCR of PDFs; /24 - 1.25); OCR of				
			PDFs; Creat	te Excel inde	x (1/23 -3.5); OCR				
			PDFs (1/28	~ 1.25) OCR	of PDFs (1/29 - 0.5) 145.	00 2.17	314.14	
02/12	2/2008			s for certified	payrolls	35.	00 0.17	5.83	
		NY	Ambinder; p	reparation o	R. Moscow and L. f draft input schedul	es:			
			review of pa	yroll reports		145.	00 0.33	47.85	
		JM			R. Moscow and L. f draft input schedul	es:			
			review of pa		.,	185.	00 2,53	468.62	î •
02/1:	3/2008	NY	Print PDFs			145.	00 1.00	144.99	
02/14	4/2008	JM	Prepare, rev	/lse input for	m	185.	00 0,40	73.99	:
02/1!	5/2008	RS	Prenare ana	livsis of repo	rted wages shown o	าท			:
	_, v ~ v		certified pay	то	·	95,	00 2.50	237.50	2
		JM	Preparation	of draft sche and inventor	edule; review of pays y; review of prevailir	roll nd			:
			wage inform		Provider of broading	יש 185.	00 2.73	505.62	
							,		

DOCKET A L A R M Find authenticated court documents without watermarks at <u>docketalarm.com</u>.

ĒF `DOC.' NO. 2		and an	1		ECEIVED NYSCEF :	-
Derek	A. Po	opeil, Esquire	March Account No: Statement No:		Page: 2 1 21, 2008 1593-000 144115	
Our C	ase F	île No; JM28002				
02/18/2008	JF RS	Prepare analysis of Apple payroll records Review certified payroll sheets from Apple Builders Renovators, Inc.; prepare analysis of	<u>Rate</u> 95.00	<u>Hours</u> 2.67	253.31	
	NY JM	certified payroll and daily sign-in sheets Meeting about payroll job; printing from PDFs Review of input issues and revisions to input	95.00 145.00	2.67 0.50	253.65 72.50	and the second second
		form	185.00	0.53	98,66	
02/19/2008	JF	Prepare analysis of Apple payroll records	95.00	2.67	253.31	-
02/20/2008	JF RS	Prepare analysis of Apple payroll records Review certified payroll sheets from Apple Builders and Renovators, Inc.; prepare analysis of certified payroll and daily sign-in	95.00	2.67	253.31	
		sheets	95.00	2.67	253.65	i diministra e e e e e
02/21/2008	J F RS	Prepare analysis of Apple payroll records. Review certified payroll sheets from Apple Builders and Renovators, Inc.; prepare analysis of payroll reports	95.00 95.00	2,67	2 53.3 1 221.35	
02/22/2008	RS	Review of certified payroll sheets from Apple Builders and Renovators, Inc.; prepare analysis of payroll reports	95.00	2.67	253.65	
	JF	Prepare analysis of Apple payroll records	95.00	2.67	253.31	
02/25/2008	JF RS	Prepare analysis of Apple payroll records Review certified payroll reports; prepare	95.00	2.67	253.31	1
		analysis of payroll reports	95.00	2.00	190.00	+
02/26/2008	JF RS	Prepare analysis of Apple payroll records Review certified payroll reports; prepare analysis of payroll reports	95,0Q	2.67	253.31	
02/27/2008	그는	Prepare analysis of Apple payroll records	95.00	0.67	63.65	
02/28/2008			95,00	2.67	253.31	
		Prepare analysis of Apple payroll records	95.00	2.67	253.31	
02/29/2008	JF NY	Prepare analysis of Apple payroil records Printing from PDFs For Current Services Rendered	95.00 145.00	2.67 0.75 53.32	253.31 108.74 5,847,49	

DOCKET A L A R M Find authenticated court documents without watermarks at <u>docketalarm.com</u>.

		ĩ
Derek A. Popeil, Esquire	Page: 3 March 21, 2008 Account No: 1593-000 Statement No: 144115	
Our Case File No: JM28002		
		-
Total Current Work	5,847.49	
BALANCE DUE	\$5,847.49	:
		.
	a a gan ang anang ang ang ang ang ang an	
、		
·		
· –		

DOCKET Find authenticated court documents without watermarks at <u>docketalarm.com</u>.

FILED:	NEW	YORK	COUNTY	CLERK	03/	26/2	2018	10:	32	PM	INDEX NO.	653874/	2016
NYSCEF D	OC NO	. 21	**************************************	a an an an an an a	5. A. A. A.	:	1999 (J. 2019) 1999 (J. 2019)		n a shekar daga	RECE	IVED NYSCEF:	03/26/	2018
yy set to the s	·,••,		a to second a second f		9149 <u>1</u> 944		- ₂₄ - 440 - ⁶ 4 ⁻ 1	.r ₂ ∼. †3	<u></u>	en en gegen affen og general.	, - <u>-</u>		
1 يىلى	•				Public i		EY, P.C. r Buildu D						

150 South Independence Mall West Philadelphia, PA-19106

EIN 23-2309118

Derek A. Popeil, Esquire DREIFUS, BONACCI, & PARKER, LLP 26 Columbia Tumpike North Entrance Forham Park, NJ 07932

Account No. Statement No. Page: 1 March 31, 2008 1593.000 144196

Our Case File No: JM28002

DOCKE

Δ

In Reference To: Javier Rodriguez, et al V. Apple Builders and Renovators, Inc. et al Index No.: 114971-05 MDMC File No.: A0068-1342

Services Rendered

03/03/2008	RS	Enter certified payroll information into spreadsheet	Rate	Hours	
03/03/2000	rω	format	130.00	1.67	216.65
03/04/2008	RS	Enter certified payroll information into spreadsheet format	130.00	1,50	194.98
03/05/2008	JM	Review of input progress; review of format changes for time sheats; review of spreadsheet	, 185.00	0.77	141,82
03/07/2008	JM	Review of input format changes	185.00	0.20	37.00
03/10/2008	JF	Prepare analysis of payroll records	120,00	2,67	319,97
03/11/2008	JF	Prepare analysis of payrol records	. 120,00	2.67	319,97
03/12/2006	ĴΈ	Prepare analysis of Apple payroli records	120.00	2,67	319.97
03/13/2008	JF	Prepare analysis of Apple payroll records	120.00	2.67	319,97
03/14/2008	JF JM	Prepare analysis of Apple payroll records Review input issues; revision to format	120.00 185.00	2.67 0.40	319.97 73.99
03/17/2008	JF	Prepare analysis of Apple payroll records	120,00	2,67	319,97
03/18/2008	JF	Prepare analysis of payroll records	120,00	2,07	319,97

		K COUNTY CLERK 03/26/2018				10. 653874/20	
SCEF DOC. NO.	•• • •	1 <u>,</u> 1		1	RECEIVED NY\$C		
	n, ersti i	allen i erselaren erzeko erzetek - erzeko erzekien erzekien (* -	····, · · · · · · · · · · · · · · · · ·		energy and the state of the sta	Adda - a graad	
ţ							
•	A, Pop	peil, Esquire		More	Page: 2 xh 31, 2008		
			Account No: 1593-000				
	-		Stater	nent No:	144196	uniter (1(1)) - 100 - 10	
	ase Fil	e No: JM28002					
•			Rate	<u>Hours</u>			
03/19/2008	JF	Prepare analysis of Apple of payroli records	120.00	2.67	319.97		
03/20/2008	NY	Upload data from CD's; OCR of PDF's;					
		Concordance DB test (1/24 - 1/25); OCR of PDFs' create Excel index (1/25 - 3.5); OCR of PDFs (1/28					
		- 1.25); OCR of PDFs (1/29 - 0.6)	145.00	2,17	314.14		
	JF	Prepare analysis of payroll records	. 120.00	2,67	319,97		
03/24/2008	JF	Prepare analysis of Apple payroll records	120.00	2.67	319.97		
	ΡJ	Discussion and review of data entry process of prevailing wage information	150.00	0,33	50,00		
03/25/2008	JF	Prepare analysis of payroli records					
			120.00	2.67	319.97		
03/26/2008	JF RS	Prepare analysis of payroll records Review certified payroll for Apple Builders	120.00	2,67	319.97		
			130.00	1.33	173.32		
03/27/2008	JF RS	Prepare analysis of payroll records Review certified payroll reports for Apple Builders &	120.00	2.67	319.97		
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Renovators, Inc	130.00	1.33	173.32		
0 3/28/ 2008	JF	Prepare analysis of payroll records	120,00	2.67	319,97		
	RS	Review certified payroll reports for Apple Builders & Renovators, Inc.					
	JM	Renovators, Inc Review of status of input; review of revisions to	130.00	1.60	194.98		
		spreadsheet	185.00	0.70	129,49		
03/29/2008	JF	Prepare analysis of Apple payroll records	120.00	2.67	319,97		
		For Current Services Rendered		61,96	6,499.24		
		Total Current Work			6,499,24		
		Previous Balance			\$5,847.49		
		RALANCE DUE			まえつ でんど づき		
		BALANCE DUE			\$12,346.73		

Please reference our case number on your check. Thank you.

Find authenticated court documents without watermarks at docketalarm.com.

Μ

DOCKET A L A R M



Explore Litigation Insights

Docket Alarm provides insights to develop a more informed litigation strategy and the peace of mind of knowing you're on top of things.

Real-Time Litigation Alerts



Keep your litigation team up-to-date with **real-time alerts** and advanced team management tools built for the enterprise, all while greatly reducing PACER spend.

Our comprehensive service means we can handle Federal, State, and Administrative courts across the country.

Advanced Docket Research



With over 230 million records, Docket Alarm's cloud-native docket research platform finds what other services can't. Coverage includes Federal, State, plus PTAB, TTAB, ITC and NLRB decisions, all in one place.

Identify arguments that have been successful in the past with full text, pinpoint searching. Link to case law cited within any court document via Fastcase.

Analytics At Your Fingertips



Learn what happened the last time a particular judge, opposing counsel or company faced cases similar to yours.

Advanced out-of-the-box PTAB and TTAB analytics are always at your fingertips.

API

Docket Alarm offers a powerful API (application programming interface) to developers that want to integrate case filings into their apps.

LAW FIRMS

Build custom dashboards for your attorneys and clients with live data direct from the court.

Automate many repetitive legal tasks like conflict checks, document management, and marketing.

FINANCIAL INSTITUTIONS

Litigation and bankruptcy checks for companies and debtors.

E-DISCOVERY AND LEGAL VENDORS

Sync your system to PACER to automate legal marketing.